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I Evaluation of 4 hermeneutics and how they interact with each other: wp’n (juxtaposition), N1 N1, IMM Yp, AR P11
a wpn
i followed by wp'n: does not work, as per either X117 or X121 (end of previous Tyv)
ii ~ followed by nmw nvm:
1 wvalid: per application of w1 of NN NNIP::NNAN NNIP in T2 'Y to 91 PN, (V1)
(@) and: wp>n of 413 '3 to WRY YN —
(b) result: if entire garment is y711¥n —nv (v. 1)
2 rejection (721177 ”7): works in areas of P91, not wTP
(a) proof: else, no need to connect nWR to N9 for Nay, could’ve gotten from NRYN via W13 — DWVTP VTPTPTP
(i) block: perhaps we would have blocked the w11 by noting that nxron is 1931 for min»>3 »a7n
(i) defense: extra 1”p1p written, makes n19m w", invulnerable to challenges
iii  followed by 9mm Yp: is valid, as per »*1a7n (above, comparing j27p% 117p, DWVYNY DIWVYN)
iv  followed by ar pia:
1  invalid: else, we could have inferred nwx from nrvVnN via 1x¥n Nn3; fact that N7 N makes more direct connec-
tion to nY1 is because this method is invalid
(@) challenge: why not use ar 111 from n%w?
(i) answer: we would have blocked it — n%y is 'n% 9295
(i) rejection: we couldn’t have used aR p3a from nroN, as NRYN is NN’ 727N HY 7951 — no resolution
2 tangent: we need explicit mentions or connections with nwrY N5y ,nRON
(a) had we: omitted N5y, we would have argued that the others are 1931
(b) had we: omitted nron, we would have argued that these two are males, can’t apply to nxon
(c) had we: omitted nwR, we would have argued that these two have »1ax examples; untrue about nwr
b vmn
i followed by wpn:
1 oalid: per 8" — vv. 2-3 juxtaposed, to create wp’n from nNTIN to DNYY;
(a) and: »n%w may be brought from nwyn qoa, via DW:: DY (Vv. 4-5)
(i) therefore: n'TIn may be brought from wyn qoa
(ii) challenge: 137 7Y is PN (i.e. sheds no light on whether this matrix works in n*w1p)
1. defense: 1301 "7's statement didn’t specify; if it can’t be used, shouldn’t matter-> valid
ii ~ followed by nmw nvm:
1 walid: per n"17, who infers mxn::mxgn then mYn:mn (v. 3) to require n» o for pPprid
(a) block: perhaps the inference is directly (mxn::mxn) from n narn
2 rather (X27): teach mn without vwan of innards of 3”7 YW VYWY 19 via vv. 6-7; w191 219px2, then DY WRIX2
iii followed by 1mm 5p:
1 oalid: argued by v'p (!)
(a) if: wp>n cannot be followed by a wp’n (per X171 or Ry27, above), but can be followed by 1p (121N above)
(b) then: certainly a w"n, which can then be followed by a wp’n (per 8”1 - n'Tin), can be followed by 1p
(i) challenge: for those who reject 9™ (per challenge, above — focus on Tn5n) — no source; rather...
(c) if: wp>n cannot be followed by itself (per X217 or X119, above), but can be followed by 1'p (»*127n above)
(d) then: certainly w”1, which can be followed by another w1 (per n”a1 - n»v), can be followed by 1'p
iv  followed by ar paa:pn
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C V'p
i followed by wp»n:
1 woalid:\p
(a) Ifa wp'n cannot lead a w1 (per 13Ny "), but can follow it (per a™)
(b) Then: certainly a v"p, which can follow a wp’n (>*127n), can lead a wp'n
(i) Challenge: to those who reject 9™ (per above) - 1p'n
ii  followed by nmw nvm:
1 wvalid: "
(a) If: v, which cannot follow a wp’n (per 111 "), can follow a w"1 (per n”a7)
(b) Then: y'p, which can follow a wp’n (per "121n), can certainly lead a w"n
iii followed by 1mm 5p:
1 oalid:\p
(a) If: v cannot follow a wp>n (per 13Ny "), yet can follow 1y (proved above)
(b) Then: certainly vp which can follow a wp>n (**127n), can follow a v'p
(i) And: this is called v"p 12v"p
1. Challenge: this is a “grandchild” of the vp (7/p 5w 11 1217p)
a.  Explanation: it was inferred using another inferred rule; rather...
(c) If: wp>n cannot follow wp n (R317179/817), yet can be followed by 1"p (**127n)
(d) Then: certainly vp which can follow wp’n (>"127n) can follow 'p
iv  followed by ar 112
1 wvalid: per n™ - 9y, found to be N9 but then underwent np*Yn, is no longer NY*an nvaa Rnovn ("M’ " dissent)
(a) argument: nnna, which is RWN2Y Yana RNVN as a NP2y, yet its NV’NY can make a N9V un-N>>21 for NRMV
(i) then certainly: ,, which only has ny*9n n'a nkmv (n21) has its nkMY removed as a N9V via NVNY
(ii) and:just as NYNY is NPIRY PWIN, s0 toO is NPPoN = NPYoN removes NP1 NRMD
1. challenge (701 /7): employ rule of 7 — only applies to nvnY
2. rejection/rejection: even if no challenge — comes from P91 (9 12 NVYNY 51N NY'NY) = no proof
d axpn
i followed by wp'n: no solution suggested
ii ~ followed by nmw n1: no solution suggested
iii followed by 1mm %p: no solution suggested
iv  followed by ar pia:
1 wvalid: we may learn that 179 8% 19y bR applies to P11°Ra 17 from 9wa1 1% and then apply it to oTa 1%
2 tangent: source for Ympn5 yim 1unty yin ,kno Kk¥y and 15100 1527 (as long as they are p%108 whose nmay is valid
at some points — Xnv) (that they are 1770 89 19p DR)
3 challenge: how can we infer nnmwra 19 (which is only valid Tap»72) from qwa1 15 (75 nN2% IMn)
(a) answer: Ran is inferring from catch-all n%wn NN Nt and our system (of related ax 113) is an XnanoOR
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